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Alam| B |am| = |&am| B [a®] B |a®m| = |am| B |am| B |aB| = | am| B
4R 257| 600/410| 251| 261,180 95 32,490( 603] 894,080 27 21,870 3 590 14 2,810 44 25,270 647 919,350
58 319| 721,570| 242 261,770f 165 86,220| 726( 1,069,560 36 37,960 2 530 20 4,560 58 43,050 784| 1,112,610
683 308| 677,760| 277 288,460( 302 170,880| 887 1,137,100 29 29,560 3 470 17 2,570 49 32,600 936| 1,169,700
78 263| 624,080| 263| 297,380 412] 325950| 938 1247410 21 22,680 3 800 13 3,450 37 26,930 975| 1,274,340
84 271] 610,300| 253| 276,720( 329| 147,540| 853| 1,034,560 27 30,720 2 830 14 1,990 43 33,540 896| 1,068,100
9A 262| 596,260| 250 267,720 308| 164,290| 820( 1,028,270 20 20,750 7 1,140 17 4,180 44 26,070 864| 1,054,340
10H 278| 611,830 273| 276,180( 360 222,370] 911f 1,110,380 23 21,540 1 190 7 1,290 31 23,020 942| 1,133,400
11H 263| 552,140| 240 257,200 209 79,920 712| 889,260 26 23,000 1 410 18 5110 45 28,520 157 917,780
12H 258| 537,650| 252 262,590 225| 168,710] 735 968,950 24 21,930 2 410 11 1,940 37 24,280 172 993,230
1H 234| 491460| 231| 249,280 93 34490 558| 775,230 22 16,560 0 0 12 2,390 34 18,950 592 794,180
28 205| 437,890| 210] 232,390 78 34,230 493| 704,510 23 18,490 5 1,110 13 3,670 41 23,270 534 727,780
3A 255| 552,150| 276| 309,250 102 30,310 633] 891,710 25 21,110 2 360 14 2,250 41 23,720 674 915,430
&5t | 3173]|7,013500| 3,018) 3,240,120| 2,678| 1,497,400| 8,869[11,751,020] 303| 286,170 31 6,840 170 36,210| 504 329,220| 9,373 12,080,240
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Xy | Em B B e Fit A B A =
Alam| B |oa®m| = |am| B [aB] B |a®m| = |am| B |am| B |[aB| =B | am| B
48 0 0 1 90 8 1,630 9 1,720 51 59,510 2 430 8 760 61 60,700 70 62,420
5H 0 0 2 130 5 490 7 620 69 85,280 1 290 8 1,040 78 86,610 85 87,230
64 0 0 0 0 2 250 2 250 57 57,720 1 610 11 1,210 69 59,540 71 59,790
7H 0 0 3 1,280 0 0 3 1,280 48 45,220 1 280 1 20 50 45,520 53 46,800
8H 0 0 0 0 2 720 2 720 79 54,630 0 0 8 1,030 87 55,660 89 56,380
98 0 0 1 80 2 320 3 400 53 44,460 3 560 8 1,290 64 46,310 67 46,710
104 0 0 2 590 3 390 5 980 55 50,660 2 700 3 660 60 52,020 65 53,000
114 0 0 0 0 1 110 1 110 58 54,550 1 180 6 770 65 55,500 66 55,610
12H 0 0 1 80 4 330 5 410 55 54,190 0 0 3 210 58 54,400 63 54,810
1H 0 0 1 480 1 140 2 620 43 42,400 0 0 4 200 47 42,600 49 43,220
28 0 0 0 0 4 270 4 270 44 44,200 2 370 0 0 46 44,570 50 44,840
38 0 0 2 860 2 90 4 950 49 47,870 2 950 5 820 56 49,640 60 50,590
=X 0 0 13 3,590 34 4,740 47 8,330 661] 640,690 15 4,370 65 8,010 741] 653,070 788 661,400

FIFFETSESRE 1/3




(BGL: & ke)

1 5% 5 BERYS Rl i
w3l BR_H (B it
X% RE Ev ¥ RybRhL [Z0MTS5RFVH /NEE mF
Alam| B |am]| = |am| B |[aB] B |o®m] = 5| &
4B | 90[ 78550 76| 35500[ 3i 8,170 46] 20890] 243[ 152,110 243 152,110
58 | 82 70090[ 75 34400 35  8950] 51| 34,930] 243] 148,370 243] 148370
68 | 8] 63560] 74| 34250 37] 10060] 53] 33090 252] 140,960 252 140,960
7H | 74 57220 74[ 32800] 32[ 8240 53] 32,580] 233] 130,840 233] 130,840
8H | 83 60220 74[ 32200] 53] 11.660] 50| 32,090 260] 136,170 260] 136,170
9B | 67| 56160 73] 33740[ 40[  9500[ 55[ 31,150 235 130,550 235] 130,550
108 76] 59800[ 72[ 31020] 33[  8610] 49| 27.200] 230] 126,630 230[ 126,630
118| 60] 50700[ 60[ 26870] 32[ 7880 55| 29,310 207| 114,760 207] 114,760
128 89 71830[ 73] 37700] 29|  6530] 56| 33540 247] 149,600 247] 149,600
1H [ 75 58740 75| 35950 36|  s&110] 49] 30380] 235] 133,180 235] 133,180
28 | 54| 44660] 54| 24260 28]  6700] 45| 28,630 181] 104,250 181 104,250
3B | 86| 77000 84] 35210[ 32[  6760] 56] 36070 258 155040 258 155,040
&5t | 924] 748530] 864] 393900[ 418[ 101,170] 618[ 378,860] 2.824] 1,622,460 2,824] 1,622,460
(Bf1: &, ke)
B — AIEITfEER
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) =it ikl [EF) /M -
A | 8% B = B = B a8 B = B
47 0 of o of 5 3490 5] 3490 5 3,490
55 0 of o of 2 820 2 820 2 820
6 0 of o of o of o 0 0 0
7H 0 of o of o of o 0 0 0
8H 0 of o of o of o 0 0 0
9A 0 of o of 1 190 1 190 1 190
108 0 of 1 520[ 0 of 1 520 1 520
118 0 of o of 1 240] 1 240 1 240
128 0 of o of 2 410 2 410 2 410
18 0 of o of o of o 0 0 0
2R 0 of o of o of o 0 0 0
3A 0 of o of o of o 0 0 0
a3 0 of 1 520f 11 5150 12[ 5670 12 5,670
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A | a%]| & |&%| & |&%| B |&%| = % | &
48 578| 833,900 257 262,290 130 41,180 965| 1,137,370 965 1,137,370
5H 667| 993,180 247 262,720 200 93,130 1,114| 1,349,030 1,114] 1,349,030
6 A 646| 906,000 281| 289,540 332 174,910( 1,259| 1,370,450 1,259| 1,370,450
7 H 565| 822,820 270 299,740 426 329,420| 1,261 1,451,980 1,261 1,451,980
8 H 637| 831,820 255| 277,550 353 151,280( 1,245| 1,260,650 1,245| 1,260,650
9H 570 792,020 261 269,500 336 170,270( 1,167] 1,231,790 1,167 1,231,790
108 586| 810,660 279| 278,180 373 224,710| 1,238 1,313,550 1,238 1,313,550
118 554| 744,450 242 257,790 235 86,150 1,031| 1,088,390 1,031 1,088,390
128 584| 763,370 255| 263,080 245 171,600 1,084] 1,198,050 1,084| 1,198,050
18 534| 683,600 232| 249,760 110 37,220 876 970,580 876 970,580
2 A 453| 604,830 217| 233,870 95 38,170 765 876,870 765 876,870
3 A 587| 776,170 282 311,420 123 33,470 992| 1,121,060 992 1,121,060
&Et | 6,961] 9,562,820 3,078| 3,255,440| 2,958| 1,551,510]/12,997|14,369,770 12,997 14,369,770
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